EARAROBEEIERT — 2 N— IBISH —F

201246A308 (£) 2EF=1H

Ll 7R3 REFI (8] B

‘ [R1%] & ‘ [REBE] — | & (%) 1800 B

[A~&E£] 174,600,000 ~ 23 :1,800,000 37 :1,200,000 1

/47 1690,000 F 5 7& : 460,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SN # o3 | AKX 1:54.0 4-4-4-4 | 38.0| — 2 488 | FRBE (FR)
115(10 I—>2/Ny Tl 56.0 (=) -2) (¥k) HERE
L:bh—t>H2ZX B:YIS5N—RET BEE BE
P13 = 4 3 | MEEZ 1:54.2 2-2-0-2 | 38.4| — 1 500 | FEEX (R®)
EE 4 TLITI59> 56.0 (1 1/2) (-8) *ZJIIIF\EEI
R:YLKYIYRIZR B:FELAI LR Hs
Sy — 43 | EAEN 1:54.4 9-9-10-8 |37.9| — 4 478 | BEEM (FX)
307014 ¥F297 R —L4 56.0 (1 1/8) © | &) imrs
Ry TELAVF— BTy KLy IR ke
o 4 3 | dERER— 1:54.4 14-14-13-11{ 37.2 | — 6 506 |MEBE (RX)
4(8)16| 7L LI 5.0 (7€) Goy | B *raykTroL
VLR YZYRIR BiELIEI =Y Tp—5h
SRR 3 3 | JIIEER 1:54.5 7-7-7-5 | 38.2| — 5 534 | AREBE (ER)
A=—2v K747 560 76 Oy | #FEAR AT 22 )
A :Ghostzapper B:T7A1Z K77y >3 J—HrTr—LA
N ENEE :54. —-12-11- . — HwRE (ER)
IV T7ZEY b s 56.0 (11514/42 etz 377 ? ?_3;) (B) 174
R:RNMF2— B:ECIYHIT =i E=
= 4t 3 | BAIUGAF 1:54.9 7-7-7-8 | 38.6 | — 7 482 | tAFME (RR)
174074 56.0 (1 1/2) (-§) | H H ¥z A5 nnse
R:7VFER BTULTL A—L— - TN Tp—LERE
S 4 3 | ERAH 1:55.1 2-2-2-2 [ 39.3| — 12 500 |#AKEE (ER)
eEAVHY =~ 56.0 (1 1/4) (+4) W) eADs5T
v Ny ahTr B:ehUST Il e
= # 3 | BEESE 1:55.5 1-1-1-1 | 39.8| — 3 486 | BBIER (ER)
9[1|2|TTITLNATA 453.0 @1/2) (-a) MEE
R:T7>BAT4 97548 B:d—JLRNZ— KT 7 — L
S ; 3 | FHEZ 1:55.9 12-12-14-14| 38.5 | — 14 | 504 |REEZ (ER)
10|5|9| 71— N—Vx A7 453.0 (2 1/2) ) | @) HAEL-2K-2
R:7VFEF B:TyvaTrAv— HET7— L4
— . . 11 _ Il (=)
1" 3| 758751 b i 3 el (11_53.5 1-11-11-11 39.2 15 12(3);1 iy
TP BAT749 7748 B:7534243A/10— RN
P = oK # 3 | BRE 1:57.2 15-15-14-14| 39.9 | — 1| 492 |/NEE (FER)
1o#flg| 77FF ALY R 7585.0 ® o | @ *rayrzr-u
v TRy b BT R=)b ST r—L
2 NS S # 3 | BERX 1:57.2 10-9-7-8 [41.0| — 16 | 466 | ABSH (ER)
131815 SF/NTTAD 5.0 (7¢) () | 202
L= R7PY2— B:wLE—I~N—T XF A
i 5 g 4 3 | MEXE 1:58.1 4-5-6-5 |42.0| — 13 | 466 |PAKRE (BX)
14[7[13| 7/ 77— K 56.0 5) (g | BT
R:FxIAqO— B:vivO-—v> A E=
S . 4 3 | BREEX 1:59.6 4-5-4-5 |43.6| — 8 462 | RAMRER (BER)
Eﬂ 7| AL AT > 56.0 © (+4) THE
Z:d—IR7Ya—Jb B:32/XR 18 JEAA
s s N 4 3 | ERH - 16-16 - - 10 | 506 |=HFRH (ER)
k(11| F—YF¥RAIX 56.0 (k) (—) | EEME
R:TTRRAFLL BivU—FvH— b J =% Ty — L
@ 71 L
) 51.2-38.3
NA> &AL | 12.8-11.3-13.0-13.0-12.7-12.9-12.9-12.2-13.2
® I —F—@EBIERL
13=3r= 2(4,6) (10,13,7)-(5,12)14,15,3(9,11) 16-8=1
2= = 2(4,6)10(13,7) (5,12)-(14,15)-3-(9,11) 16-8=1
30—4— 2(4,6) (10,7)13(5,12,15)14-(3,11)16(9,8) 1
40—+ — (x2,4,6)10-(5,13,7) (14,12,15) (3,11,16)-(9,8) 1
[ N3
B O 10 450M 714K 4-10 170H e E 2-5 370 JEHE 4-10-14 1,150
8 B 10 140 10-14 570M B = 4-10 380M B 10-4-14 6,820
4 110 4-14 360 B H 10-4 1,230
14 240H

ABICOVWTRDTEEERROODE. TR LIV,




